Chapter 8 Problem Set 

When responding to "fill in the blank" problems on this homework set, please specify your answer as either X.X, X.X%, XX.X, or XX.X% where appropriate. Note that the most important thing is to only specify one digit to the right of the decimal point.

	1. Consider the following data for three alternatives A, B and C 

[image: image1.jpg]Year A B C (AB) (AC) (CB)

0 3200 1600 2400 1600 800 -800
1 800 380 700 420 100 320
2 800 380 700 420 100 320
3] 800 380 700 420 100 320
4 800 380 700 420 100 320
5 800 380 700 420 100 320
6 800 380 700 420 100 320
7 800 380 700 420 100 320

16% 15%  22% 18% 3% 35%




MARR = 10 %.        The recommended alternative is

(Points : 1) 



	      [image: image2.wmf] A
      [image: image3.wmf] B
      [image: image4.wmf] C




	2. Consider the Cash Flow 

         Year        CF
           0       -1000
           1          200
           2          300
           3          400
           4          500 

Four equations are proposed for finding the Rate of Return

A)  200(P/F,i,1) + 300 (P/F,i,2) + 400 (P/F,i,3)  + 500 (P/F,i,4) - 1000 = 0

B)  200 (P/A,i,4) + 100 (P/G,i,4) - 1000 = 0

C)  [ 200 (F/P,i,3) + 300(F/P,i,2) + 400 (F/P,i,1) + 500 ] (P/F,i,4) - 1000 = 0

D)  100 (A/G,i,4) + 200 - 1000 (A/P,i,4) = 0 

Which equations are correct?
(Points : 1) 

      [image: image5.wmf] A and B only
      [image: image6.wmf] A and C only
      [image: image7.wmf] A,B, and D only
      [image: image8.wmf] A,B,C, and D


3. Problem 8-3: What is the incremental ROR for (B-A).  Use a format of X.X% or XX.X% (Points : 1) 

      [image: image9.wmf]

 
[image: image10.emf]
4. Problem 8-3: If MARR = 6%, which alternative should be selected? (Points : 1) 

      [image: image11.wmf] A
      [image: image12.wmf] B
      [image: image13.wmf] Neither


5. Problem 8-3: If MARR = 8%, which alternative should be selected? (Points : 1) 

      [image: image14.wmf] A
      [image: image15.wmf] B
      [image: image16.wmf] Neither


6. Problem 8-3: If MARR = 10 %,  which alternative should be selected? (Points : 1) 

      [image: image17.wmf] A
      [image: image18.wmf] B
      [image: image19.wmf] Neither


7. Problem 8-3: If MARR = 16%, which alternative should be selected? (Points : 1) 

      [image: image20.wmf] A
      [image: image21.wmf] B
      [image: image22.wmf] Neither


8. Problem 8-14: The Incremental ROR for (B-A) is most nearly (Points : 1) 

      [image: image23.wmf] negative
      [image: image24.wmf] 1.3%
      [image: image25.wmf] 2.9%
      [image: image26.wmf] 10.0%
[image: image27.emf]
9. Problem 8-14: What is the value of the Incremental ROR   for  (C-B)?   Use a format of X.X% or XX.X% (Points : 1) 

      [image: image28.wmf]

 

10. Problem 8-14: For what range of values of MARR is Alt C the preferred alternative?   Put the answer in the following form:   "Alternative C is preferred when   XX%    MARR   YY%."   The values of XX % and  YY% , respectively,   are most nearly (Points : 1) 

      [image: image29.wmf] 0% , 9.0%
      [image: image30.wmf] 0%, 10.0%
      [image: image31.wmf] 9% , 11.7%
      [image: image32.wmf] 9% , 14.3%


11. Problem 8-15: The Rate of Return of  A  is most nearly (Points : 1) 

      [image: image33.wmf] -0.5%
      [image: image34.wmf] 10.0%
      [image: image35.wmf] 10.8%
      [image: image36.wmf] 12.4%
[image: image37.emf]
(a) Construct a choice table for interest rates from 0% to 1 00%.

(b) If the minimum attractive rate of return is 8%,
12. Problem 8-15: The incremental ROR of ( C-D ) is most nearly (Points : 1) 

      [image: image38.wmf] 1.3%
      [image: image39.wmf] 8.2%
      [image: image40.wmf] 10.0%
      [image: image41.wmf] 12.0%


13. Problem 8-15: The recommended alternative is (Points : 1) 

      [image: image42.wmf] A
      [image: image43.wmf] B
      [image: image44.wmf] C
      [image: image45.wmf] D


14. Problem 5-83: The rate of return for alternative A is: (Points : 1) 
[image: image46.emf]
      [image: image47.wmf]

 

15. Problem 5-83: The rate of return for alternative B is: (Points : 1) 

      [image: image48.wmf]

 

16. Problem 5-83: The rate of return for alternative C is: (Points : 1) 

      [image: image49.wmf]

 

17. Problem 5-83: The rate of return for alternative D is: (Points : 1) 

      [image: image50.wmf]

 

18. Problem 5-83: The rate of return for alternative E is: (Points : 1) 

      [image: image51.wmf]

 

19. Problems 5-83: The rate of return for alternative F is: (Points : 1) 

      [image: image52.wmf]

 

20. 
Problems 5-83: The incremental rate of return for the increment B-A is::

(Points : 1) 

      [image: image53.wmf]

 

21. 
Problems 5-83: The incremental rate of return for the increment C-B is::

(Points : 1) 

      [image: image54.wmf]

 

22. 
Problems 5-83: The incremental rate of return for the increment D-B is::

(Points : 1) 

      [image: image55.wmf]

 

23. 
Problems 5-83: The incremental rate of return for the increment E-B is::

(Points : 1) 

      [image: image56.wmf]

 

24. 
Problems 5-83: The incremental rate of return for the increment E-D is::

(Points : 1) 

      [image: image57.wmf]

 

25. 
Problems 5-83: The incremental rate of return for the increment F-D is::

(Points : 1) 

      [image: image58.wmf]

 

26. 
Problems 5-83: The incremental rate of return for the increment E-C is::

(Points : 1) 

      [image: image59.wmf]

 

27. 
Problems 5-83:  incremental rate of return for the increment E-A is::

(Points : 1) 

      [image: image60.wmf]

 

28. 
Problems 5-83: The incremental rate of return for the increment D-A is::

(Points : 1) 

      [image: image61.wmf]

 

29. Problems 5-83: The incremental rate of return for the increment F-B is:: (Points : 1) 

      [image: image62.wmf]

 

30. 
Problems 5-83: The incremental rate of return for the increment C-A is::

(Points : 1) 

      [image: image63.wmf]

 

31. 
Problems 5-83: The incremental rate of return for the increment F-A is::

(Points : 1) 

      [image: image64.wmf]

 

32. 
Problems 5-83: The incremental rate of return for the increment F-C is::

(Points : 1) 

      [image: image65.wmf]

 

33. Problems 5-83: The first incremental analysis should be: (Points : 1) 

      [image: image66.wmf] 

B-A


      [image: image67.wmf] 

C-A


      [image: image68.wmf] 

D-A


      [image: image69.wmf] 

F-E

34. Problems 5-83: The second incremental analysis should be (Points : 1) 

      [image: image70.wmf] 

C-A


      [image: image71.wmf] 

C-B


      [image: image72.wmf] 

D-C


      [image: image73.wmf] 

E-D

35. Problems 5-83: The third incremental analysis should be: (Points : 1) 

      [image: image74.wmf] 

D-C


      [image: image75.wmf] 

D-B


      [image: image76.wmf] 

D-A


      [image: image77.wmf] 

E-D

36. Problems 5-83: The fourth incremental analysis should be: (Points : 1) 

      [image: image78.wmf] 

E-A


      [image: image79.wmf] 

E-B


      [image: image80.wmf] 

E-C


      [image: image81.wmf] 

E-D

37. 
Problems 5-83: The fifth and last incremental analysis should be:

(Points : 1) 

      [image: image82.wmf] 

D-A


      [image: image83.wmf] 

F-B


      [image: image84.wmf] 

E-B


      [image: image85.wmf] 

F-E

38. Problems 5-83: The selected alternative should be: (Points : 1) 

      [image: image86.wmf] A
      [image: image87.wmf] B
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